- =m pavHa TayH

%z/% /;/j/j/j/f;.;.;. A A A s /%z/%,

B VI VIV IV i LLL2 s 1 %
e A 4
- :
: o 0000
< 1500 Q = ol@)
: - 00
o 8 ° o I
AR - |
n -
< Nomxist a @@
4,3 e ' "~ KyXHsi-BiTabHs
/ 1XL |
2
48,3 m
Y < 5 440 -~
i Y Y - : X 9y
/ 77 ome
A VA I P - MNnowa
| f —_— e - _ /"—u/ MPUMILLEEHHS HaimeHysaHHs M2
d i il
T o : = 1 Kopuaop 4,9
1 . o Kopuzop o 2 KyxHs-BiTanbHsA 17,7
— FWM’\/; - 4.9 © 3 CaHBy30n 4.1
< 4 320 N 3740 4 CnanbHs 13,5
g Y | . _ 5.1 Fapaepob 3,0
e ] 7l vy 5.2 Jlopxis (3ackneHa) 4,3
> g B — /\‘ R A— 5.3 BankoH (k=0,3) 0,8
g S — H— = - =0, :
Y| Bankon (k=0,3) CnanbHs g_—— CanBvaor E:; Fapaepot - 3aranbHa nnouwa 48,3 m?
Py 135 —= 2 = S|~ 30 |gi= XvutnoBa nnouwa 13,5
~— ‘_—': l\::
| | 3810 :i. - 2 350 >/ |la—| 1810 |~
| e JRE= 1260
e | e 5= ) @ (@] BT
x| B Ny ‘ |
= At = A AR
. Z -y )




